1.Carres

Carrés de nombres relatifs N°1 Carrés de nombres relatifs : correction-
13 2 - (-05)% = 13 2 = 169 |( -05 )% = 0,25
8 2 - 01 2 = 8 2 - 64 01 2 - 0,01
( -2 )2= 06 2% = ( -2 )2 = 4 06 2= 036
30 2 - 09 ? = 30 2 - 900 09 2% = 081
(-100 ) 2= 08 ? = ( -100 )? = 10000 08 2% = 064
Carrés de nombres relatifs N° 2 Carrés de nombres relatifs : correction-
( -14 )?2:= (-02)% = ( -14 )2 = 19 |( -02 )2 = 0,04
( -5 )%= 06 2% = ( -5 )2 = 25 06 2= 036
8 Z - (-05)?% = 8 2= 64 |(-05)%=-0,25
110 2= 09 ? = 110 2% =|12100 09 %= 081
150 2= (-01)2% = 150 ?* =/22500(( -0,1 )% = 0,01
Carrés de nombres relatifs N° 3 Carrés de nombres relatifs : correction-
( -13 )%= (-09)?% = ( -13 )2 = 169 |( -09 )? = 081
( -12 )?2= 05 2% = ( -12 )2 = 144 05 2= 025
( -12 )2= (-06)% = ( -12 )2 =/ 144 |( -06 )? = 0,36
( -90 )?%= 03 2 = ( -90 )? = 8100 0,3 2= 009
( -40 )?%= 04 2* = ( -40 )? = 1600 04 %= 016
Carrés de nombres relatifs N° 4 Carrés de nombres relatifs : correction-
9 e 02 2% = 9 2 - 81 02 2% = 004
11 2 - (-06)% = 11 2 - 121 |(( -06 )% = 0,36
14 2 - 04 2* = 14 2 = 196 04 %= 016
(-90 )2= 03 ? = ( -90 )2 =/ 8100 03 2= 009
120 2= 09 ? = 120 2 =[14400 09 %= 081
Carrés de nombres relatifs N°5 Carrés de nombres relatifs : correction-
( -8 )%= (-09)?% = ( -8 Y2 = 64 |(-09 )%= 081
( -5 )%= 04 2% = ( -5 )2 = 25 04 %= 016
13 Z - 01 2 = 13 2 - 169 01 2 - 001
( -40 )%= (-08)% = ( -40 )% = 1600 (( -08 )2 = 0,64
(-150 ) 2= 08 ? = ( -150 )? = 22500 08 2% = 064
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